NEW TO RANGE

2022-12 (BY PRODUCT GROUP)
~ NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWHKW KATANOIA~YENI CIKAN URUNLER ~ g slis i~

A001.Tie Rod End

A001.Rotbaslari (0010)
A001.HakOHEYHUKU DVNEBOM TATU

Rotule de direction
EXTREMO DE DIRECCION

3702063 TIE ROD END BOTH SIDES
rotbasl, 6n sag-sol
568201C080 HaKOHEYHWK py/ieBOM TArK

Rétula barra de acoplamiento

Rotule de direction

HYUNDAI GETZ (TB) 08/02 -06/11

4102132 TIE ROD END RH

» rotbasi, 6n sag M16x1,5 RHT

u 48640EA025 HaKOHEYHWK py/NIeBOM TATU PAIR:4102133

Roétula barra de acoplamiento
Rotule de direction

NISSAN FRONTIER (D40) 07/05- NISSAN PATHFINDER (R51) 01/05 -
NISSAN XTERRA (N50) 08/05-08/15
4102133 TIE ROD END LH
rotbasi, 6n sol M16x1,5 RHT

48520EA025 HaKOHEYHWUK pyNeBOM TATU PAIR:4102132

(

Rétula barra de acoplamiento
Rotule de direction

NISSAN FRONTIER (D40) 07/05- NISSAN PATHFINDER (R51) 01/05 -
NISSAN XTERRA (N50) 08/05-08/15
4201066 TIE ROD END RH
rotbagl, 6n sag, dis

4504639295 HAKOHEYHUK pyNeBoit TArn PAIR:4201067

]

Rétula barra de acoplamiento
Rotule de direction

TOYOTA TACOMA (N1) 01/95 - 08/04
4201067 TIE ROD END LH
rotbasi, 6n sol, dig
4504739175 HaKOHEYHUK pyNeBon TArn PAIR:4201066

!

Roétula barra de acoplamiento
Rotule de direction

TOYOTA TACOMA (N1) 01/95 - 08/04
4902058 TIE ROD END BOTH SIDES
rotbasl, 6n sag-sol
568204E050 HaKOHEYHWK pyNeBoM TATU
Rétula barra de acoplamiento

Rotule de direction

KIA BONGO 08/06-

A002.Ball ioints

A002.Rotiller (0030)
A002.LLlapoBble onoobl

Rotule de suspension

A &
L‘/-\y

ROTULA
_ 1403013 BALL JOINT
2 rotil, 6n, tist FRONT UPPER
. 4010A114 Lwaposan onopa, ycuneHHasn
O 4010A148 Rétula de suspension/carga
6000605878 Rotule de suspension
FIAT FULLBACK (502, 503) 01/16- MITSUBISHI L 200 TRITON (KJ, KK, KL) 01/15-

STOCK AND PRICE INFO ONLINE
202212 (BY PRODUCT GROUP) WWW.FORMPART.COM 1of10



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3" LoLs 4 17 BALL JOINT RH
oev 30040 rotil, 6n sag, alt FRONT LOWER
by Sk ) 32221282 LwapoBasa onopa, ycuneHHas PAIR:3004018
Rétula de suspension/carga
Rotule de suspension
VOLVO XC40 (536) 10/17 -
e BALL JOINT LH
eod 3004018 rotil, 5n sol, alt FRONT LOWER
sew 3222128381 Lwaposan onopa, ycuneHHas PAIR:3004017
Rétula de suspension/carga
Rotule de suspension
VOLVO XC40 (536) 10/17 -
- 11 BALL JOINT
= 38030 rotil, 6n tist FRONT UPPER
N06834200 S1 waposan onopa, ycuneHHas
N N06834250 S1 Rétula de suspension/carga
' Rotule de suspension
MAZDA MX-5 11 (NB) 01/98 - 10/05
4904013 BALL JOINT FRONT
rotil, 6n alt LOWER
o 5450082000 S1 wapoBas onopa
& 54501B2000 S1 Rétula de suspension/carga
Rotule de suspension
KIA SOUL Il (PS) 02/14-
6003028 BALL JOINT FRONT
rotil, 6n
68033497AA wapoBas onopa

.

DODGE RAM 4500

01/08 - 12/18

Rétula de suspension/carga
Rotule de suspension

DODGE RAM 5500

01/08 - 12/11

A003.Track control arms
A003.Rotilli Kollar (0045+)

A003.Pbluaru nepenHei noaBecku

Triangle de suspbension
BRAZO DE SUSPENSION

—s SN,

1109023 TRACK CONTROL ARM REAR,RH
rotilli kol, arka sag
n 6R0505224 pblvar PAIR:1109024
Barra oscilante, suspensién de ruedas
Triangle de suspension
AUDI Al (8X1) 04/10 - AUDI A1l (8XA,8XF) 11/14-
1109024 TRACK CONTROL ARM REAR,LH
rotilli kol, arka sol
“ 6R0505223 pbivar PAIR:1109023
Barra oscilante, suspensién de ruedas
Triangle de suspension
AUDI A1 (8X1) 04/10 - AUDI A1 (8XA,8XF) 11/14-
1505032 TRACK CONTROL ARM LH
rotilli kol, 6n sol FRONT
d e 5282028 pblyar PAIR:1505033
FR3C3A424BA Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD MUSTANG (USA) 01/15-
1505033 TRACK CONTROL ARM RH
\ rotilli kol, 6n sag FRONT
e . 5282027 pblyar PAIR:1505032
FR3C3A423BA Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD MUSTANG (USA) 01/15-

2022-12 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

20f10



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

7 g

3509036

20250AE040
20250AE041
20250AEO04A

TRACK CONTROL ARM
denge kolu, arka sol, st
pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR,LH

PAIR:3509037

SUBARU LEGACY IV (BL,BP) 09/03 -08/08 SUBARU LEGACY IIl (BE,BH,BT) 12/98 - 08/03
3509037 TRACK CONTROL ARM REAR, RH
denge kolu, arka sag, tst
A 20250AE020 pbiyar PAIR:3509036
20250AE021 Barra oscilante, suspensién de ruedas
20250AE02A

Triangle de suspension

SUBARU LEGACY IV (BL,BP) 09/03 -08/08 SUBARU LEGACY Il (BE,BH,BT) 12/98 - 08/03
3709115 TRACK CONTROL ARM BOTH SIDES, REAR
denge kolu, arka sag-sol
H 552700A000 pbiuar
552703K000 Barra oscilante, suspensién de ruedas
552703K010 Triangle de suspension
HYUNDAI SONATA VI 08/10 -
4205019 TRACK CONTROL ARM BOTH SIDES
rotilli kol, arka sag-sol, alt REAR LOWER
E—— 4871050080 pblyar
= == Barra oscilante, suspensién de ruedas
Triangle de suspension
LEXUS LS (460) 08/07-08/12 LEXUS LS (F4) 460 08/06-
6005013 TRACK CONTROL ARM RH, REAR
rotilli kol, arka sag
68184782AB pblvar Pair: 6005014

@7 @

Barra oscilante, suspensién de ruedas
Triangle de suspension

CHRYSLER 300 C (LX) (1st Generation) 09/04-12/10 DODGE CHALLENGER 4th Generatio 08/08 - 08/15
TRACK CONTROL ARM REAR
X 6008074 rotilli kol, arka L=176 mm
52106057AA S1 pblyar
k737051 Barra oscilante, suspensién de ruedas
Triangle de suspension
DODGE RAM 1500 01/95 - 12/99 DODGE RAM 2500 PICKUP 08/94-09/02
DODGE RAM 3500 PICKUP 08/94-09/02
A005.Axial ioints
A005.Rotmilleri (0020) —— e
A005.Pvnesbie 1Arn fgaga — e
Rotule de direction intérieure . '
ARTICULACION AXIAL / AXIAL
1507098 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M14x1,5;L=280 mm
e 2180383 pynesas Tara
GN153280AA Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
FORD ECOSPORT (CR6) 11/17-
1907042 AXIAL JOINT BOTH SIDES
rotmili, 8n sag-sol M14x1,5;L=205,25 mm
A 1693300803 pynesas Tara Chassis no. from:J206853
| 1693300903 Articulacion axial, barra de acoplamiento
A1693300803

MERCEDES BENZ ~ A-SERIES (W 169)

07/04 - 01/12

Rotule de direction intérieure

MERCEDES BENZ B-SERIES (W 245)

07/05 - 11/11

3907049
%m-ﬁm“ 4422A143
MITSUBISHI ECLIPSE CROSS (GKOW) 10/17-

2022-12 (BY PRODUCT GROUP)

AXIAL JOINT

rotmili, 6n sag-sol

pynesas Tara

Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

BOTH SIDES

M14x1,5;M14x1,5;L=359 mm

30f10



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3907050 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
;} i ! — 4422A045 pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

MITSUBISHI LANCER VIII (CY,CZ) 03/07-

4107033 AXIAL JOINT

rotmili
m* 48521-10V06 pynesas Tara
) 48521-10V08 Articulacién axial, barra de acoplamiento
Rotule de direction intérieure

NISSAN 300 zX (232) 12/89-12/97
4107091 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M16x1;M14x1,5;L=250 mm
e 4852161U00 pynesas tAra
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
INFINITY Q45 08/90-11/96
4107092 AXIAL JOINT BOTHSIDES
rotmili, 6n sag-sol
ﬂ———rw 485215RLOA pyneBas Tara ELECTRIC
D85215RLOA Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
NISSAN KICKS (P15) 01/17-
4207114 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M18x1,5;M18x1,5;L=267 mm
i—e—:f—-——-—u 4550329425 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
TOYOTA DYNA (KD,LY,Y2,U3,U4,KDY) 09/06-
4207115 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
B et e 4551002150 pynesas Tara
4551002170 Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
TOYOTA COROLLA 140 USA 08/09-09/13
4307023 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M14x1,5;L=325 mm
L 48830M68P00 pyneBas Tara
Articulacioén axial, barra de acoplamiento
Rotule de direction intérieure
SUZUKI BALENO (FW, EW) 02/16 -
4707009 AXIAL JOINT
rotmili, 6n, i¢ M14x1,5;M18x1,5;L=320 mm
g 8981649670 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
ISUZU D-MAX (TFR,TFS) 06/12-
5607075 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
R 19152150 pyneBas Tara
Articulacioén axial, barra de acoplamiento
Rotule de direction intérieure
BUICK LA CROSSE (USA) 08/05 - 08/09
5607076 AXIAL JOINT
rotmili, 6n, i¢ M14x1,5;M14x1,5;L=330 mm
+ e—————— 15797215 pynesas Tara
EV80443 Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
CHEVROLET EQUINOX 08/05-08/09 PONTIAC TORRENT 08/06 - 08/08

STOCK AND PRICE INFO ONLINE
202212 (BY PRODUCT GROUP) WWW.FORMPART.COM 40f10



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

7107000 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
S ———— 104483100F pyneBas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
TESLA MODEL 3 (5YJ3) 01/17-
A006.Stabilizer links
A006.Z-rotlar. Denge Rotlari (0060) ) ,* ) o
0 . /-~ = i
A006.CToliku ctabunusatona é——’ u t ? ﬁ 7 &
Biellette de barre stabilisatrice : '
BARRA / ESTABILIZADOR / BIELETA
1508161 STABILIZER LINK REAR
!1 denge rotu, arka sag-sol L=150 mm
? TN 5289289 cToiiKa ctabunusatopa
5 T —
ql CN155K484AC Travesafios/barras, estabilizador
) Biellette de barre stabilisatrice
FORD ECOSPORT (CR6) 11/17-
4208166 STABILIZER LINK REAR
— denge rotu, arka sag-sol
it é 4883030070 cToiiKa ctabunusatopa
B 4883030080 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
LEXUS GS300, GS430 08/00-09/06
4308017 STABILIZER LINK FRONT
5 denge rotu, 6n sag-sol
?———g g 4242080J01 cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
SUZUKI KIZASHI 01/10-01/14
4808018 STABILIZER LINK FRONT
denge ¢ubugu, 6n sag-sol L=94 mm
H C42907 cToiiKa cTabunmsatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
JAGUAR XJ SERIES 3 08/86 - 05/94
< 5608056 STABILIZER LINK RH, FRONT
denge rotu, 6n sag
H 12479233 cTolika ctabunusaropa Pair: 5608057
& Travesafios/barras, estabilizador
= Biellette de barre stabilisatrice
CHEVROLET TRAILBLAZER 09/01-09/08 GMC ENVOY 2nd Generation 08/02-08/09
ISUzU ASCENDER 08/03-08/08
= 5608057 STABILIZER LINK LH, FRONT
: denge rotu, 6n sol
“ 12479231 cToiiKa crabunusaropa Pair: 5608056
i1 Travesafios/barras, estabilizador
= Biellette de barre stabilisatrice
CHEVROLET TRAILBLAZER 09/01-09/08 GMC ENVOY 2nd Generation 08/02-08/09
1ISUZU ASCENDER 08/03-08/08
FRONT
? 6008042 STABILIZER I_._INK
denge rotu, 6n
H 15870889 cToliKa ctabunusaropa
i} 20984481 Travesafios/barras, estabilizador
- Biellette de barre stabilisatrice
CADILLAC SRX 08/09-
6008043 STABILIZER LINK FRONT
denge rotu, 6n
15250258 cToliKa ctabunusatopa
22816802 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CADILLAC CTS 08/14-

2022-12 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

50f 10



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

6008044 STABILIZER LINK RH, REAR
® denge rotu, arka sag
= E 25964514 cToliKa ctabunusatopa Pair: 6008045
Travesafios/barras, estabilizador
-
Biellette de barre stabilisatrice
CADILLAC CTS 08/14-
6008045 STABILIZER LINK LH, REAR
@® denge rotu, arka sol
= . 25964513 CTOWKa cTabunusaropa Pair: 6008044
& Travesafios/barras, estabilizador
-
Biellette de barre stabilisatrice
CADILLAC CTS 08/14-
6008072 STABILIZER LINK FRONT
denge rotu, 6n sag-sol
& ® 22933429 cToiiKa ctabunusatopa
< 84009228 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CADILLAC CTe 08/15-
6008073 STABILIZER LINK FRONT
denge rotu, 6n sag-sol
* * 68198524AA cToliKa ctabunusaropa
" ' 51868333 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
DODGE VISION 01/15-
7108003 STABILIZER LINK FRONT
denge rotu, 6n sag-sol
,———b 1027391008 cToliKa ctabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TESLA MODEL X 08/12 - 08/18
7108004 STABILIZER LINK FRONT, LH
denge rotu, 6n sol L=281 mm
*—’ 104439100D cTOlKa ctabunusaropa PAIR:7108005
1188391008 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TESLA MODEL 3 (5YJ3) 01/17- TESLA MODELY (5YJY) 03/19-
7108005 STABILIZER LINK FRONT, RH
| denge rotu, 6n sag L=281 mm
104439600D CTOWKa cTabunusaropa PAIR:7108004
1188396008 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TESLA MODEL 3 (5YJ3) 01/17- TESLA MODELY (5YJY) 03/19-
7108006 STABILIZER LINK REAR, LH
denge rotu, arka sol
104449100E cToliKa ctabunusatopa PAIR:7108007
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TESLA MODEL S 08/12- TESLA MODEL 3 (5YJ3) 01/17-
TESLA MODELY (5YJY) 03/19-
7108007 STABILIZER LINK REAR, RH
denge rotu, arka sag
104449600E cToiiKa ctabunusatopa PAIR:7108006
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TESLA MODEL S 08/12- TESLA MODEL 3 (5YJ3) 01/17-
TESLA MODELY (5YJY) 03/19-

2022-12 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

6 of 10



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

A007.Wishbones

A007.Salincaklar (0040-0060)
A007.Pblyarv 3aaHeii noaBecku. 6vmenaHru

Triangle de suspension
BRAZO DE SUSPENSION

" -

LAND ROVER

DISCOVERY SERIES

1709041

LR019980
LR051594
RGG500091

] 08/04 -08/09

WISHBONE
salincak, arka sol, alt
pblyar noaseckun

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR, LH

PAIR:1709042

i

LAND ROVER

DISCOVERY SERIES

1709042

LR019979
LR051592
RGG500081

n 08/04 -08/09

WISHBONE
salincak, arka sag, alt
pblyar noaBecku

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR, RH

PAIR:1709041

'

3609125

51350T5AJ01 S2
51350-T5R-A01

WISHBONE
salincak, 6n sag, alt
pblyar noaBecku

Barra oscilante, suspensién de ruedas
Triangle de suspension

FRONT,RH

PAIR:3609126

HONDA JAZZ IV (GK) 09/13-
3609126 WISHBONE FRONT,LH
salincak, 6n sol, alt
51360T5AJ01 S2 pblyar nogseckun PAIR:3609125
51360-T5R-A01 Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA JAZZ IV (GK) 09/13-
3809059 WISHBONE FRONT,RH
: salincak, 6n sag, Ust
N06834200 pblyar PAIR:3809060
Barra oscilante, suspensién de ruedas
Triangle de suspension
MAZDA MX-5 1l (NB) 01/98 - 10/05
3809060 WISHBONE FRONT,LH
; salincak, 6n sol, Ust
N06834250 pblyar noABeCcKuU PAIR:3809059
Barra oscilante, suspensién de ruedas
Triangle de suspension
MAZDA MX-5 1l (NB) 01/98 - 10/05
_F 3 4109145 WISHBONE FRONT, LH
/- salincak, on sol, Ust
. 54525JLO0A pblyar noaBeckun PAIR:4109146
g\}” 54525JL00B Barra oscilante, suspensién de ruedas
34525)100C Triangle de suspension
INFINITY G37 08/10-09/12 INFINITY Q50 04/14-
INFINITY Q60 10/13-
\\ 4109146 WISHBONE FRONT, RH
salincak, 6n sag, st
'j‘ 54524JL00A pblyar PAIR:4109145
.__:_&/// 54524JL00B Barra oscilante, suspensién de ruedas
5452411.00C Triangle de suspension
INFINITY G37 08/10-09/12 INFINITY Q50 04/14-
INFINITY Q60 10/13-
2 4109147 WISHBONE FRONT, LH
) salincak, 6n sol, Ust
Y 54525JK000 pblyar noaBecku PAIR:4109148
- Barra oscilante, suspension de ruedas
- Triangle de suspension
INFINITY G35 08/03-

2022-12 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

7 of 10



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

£ 4109148 WISHBONE FRONT, RH
. salincak, 6n sag, Ust
o 54524JK000 pblyar PAIR:4109147
- Barra oscilante, suspension de ruedas
= Triangle de suspension
INFINITY G35 08/03-
= 5609071 WISHBONE LH, FRONT
salincak, 6n sol
10365844 pblyar NoABeCcKuU Pair: 5609072
15216919 Barra oscilante, suspensién de ruedas
22625029

Triangle de suspension

CHEVROLET MALIBU 6th Generation 08/97-08/05 PONTIAC GRAND Sedan 09/98 - 12/05
z 5609072 WISHBONE RH, FRONT
salincak, 6n sag
10365843 pblyar nogseckun Pair: 5609071
15216918 Barra oscilante, suspension de ruedas
22625030

Triangle de suspension

CHEVROLET MALIBU 6th Generation 08/97-08/05 PONTIAC GRAND Sedan 09/98 - 12/05
_ 5609080 WISHBONE RH, FRONT
salincak, 6n, Ust sag UPPER
19133654 pblyar nogBeckun Pair: 5609081
12376266 Barra oscilante, suspensién de ruedas
< 8191336540

Triangle de suspension

CHEVROLET ASTRO 2nd Gen 08/94 - 08/05 CHEVROLET BLAZER 2nd Generation 08/95-08/05
CHEVROLET S10 2nd Generation 08/82-08/04
" 5609081 WISHBONE LH, FRONT
salincak, 6n, Ust sol UPPER
12376265 pblyar noABeCcKu Pair: 5609080
19133653 Barra oscilante, suspensién de ruedas
8191336530

Triangle de suspension

CHEVROLET ASTRO 2nd Gen 08/94 - 08/05 CHEVROLET BLAZER 2nd Generation 08/95-08/05
CHEVROLET S10 2nd Generation 08/82-08/04
6009056 TRACK CONTROL ARM RH, REAR
denge kolu, arka sag
05090110AA pblyar Pair: 6009055
Barra oscilante, suspensién de ruedas
Triangle de suspension
CHRYSLER 200 08/15- JEEP CHEROKEE (KL) 11/13-
6009057 WISHBONE RH, FRONT
salincak, 6n, alt sag LOWER
15167933 pblyar noABeCcKuU Pair: 6009058
20869200 Barra oscilante, suspensién de ruedas
20869202 Triangle de suspension
CADILLAC ESCALADE GMT900 09/07 - 12/14 CHEVROLET TAHOE 3rd Generation 08/07-08/14
6009092 WISHBONE FRONT, LH
salincak, 6n sol, alt LOWER
52106561AB pblyar noaBeckun PAIR:6009093
52106561AC Barra oscilante, suspensién de ruedas
52106561AD

DODGE RAM 1500

08/02-08/09

Triangle de suspension

Y

DODGE RAM 1500

6009093

52106560AB
52106560AC
52106560AD

08/02-08/09

WISHBONE
salincak, 6n sag, alt
pbiyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

FRONT, RH
LOWER

PAIR:6009092

/

DODGE PROMASTER

2022-12 (BY PRODUCT GROUP)

6009094

68157803AA
68157803AB
68195575AA

01/14-

WISHBONE
salincak, 6n sol
pblyar noABecKu

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

FRONT, LH

PAIR:6009095

80f 10



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

6009095

68157802AA
68157802AB
68195574AA

DODGE PROMASTER 01/14-

WISHBONE
salincak, 6n sag
pbluar noaBeckun

Barra oscilante, suspensién de ruedas
Triangle de suspension

FRONT, RH

PAIR:6009094

A008.Steering bushes

A008.0n Aksam. Burclar (50-70-90)
A008.CaitneHT610KM bblYaros

Silent bloc de susbension
BUJE BRAZO OSCILANTE O DE SUSPENSION

1500196 TRACK CONTROL ARM BUSH BOTH SIDES, FRONT
rotilli kol burcu, 6n sag-sol

5282027 S1 calineHT610K pbluara FOR 1505032/3

528202851 Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FORD MUSTANG (USA) 01/15-

1700035 TRACK CONTROL ARM BUSH BOTH SIDES, REAR
salincak burcu, arka sag-sol

LR019979 S1 caiiNneHT610K pblyara FOR 1709041/2

LR019980 51 Casquillo cojinete, brazo oscilante

LR051592 S1

Silent bloc de suspension

LAND ROVER DISCOVERY SERIES Il 08/04 -08/09
1700036 TRACK CONTROL ARM BUSH BOTH SIDES, REAR
salincak burcu, arka sag-sol
LRO19979 S2 calineHT6N0K pblyara FOR 1709041/2
LR019980 S2 Casquillo cojinete, brazo oscilante
LR051592 52 Silent bloc de suspension
LAND ROVER DISCOVERY SERIES Il 08/04 -08/09
350001 1 TRACK CONTROL ARM BUSH BOTH SIDES, REAR
denge kol burcu, arka sag-sol
20250AE020 S1 calineHT610K pblyara FOR 3509036/7;3509068/9
20250AE021 51 Casquillo cojinete, brazo oscilante
20250AE02A 51 Silent bloc de suspension
SUBARU LEGACY Il (BE,BH,BT) 12/98 - 08/03 SUBARU LEGACY IV (BL,BP) 09/03 -08/08
SUBARU OUTBACK (BE, BH) 10/00 - 08/03 SUBARU BAJA Pick up 09/02-12/06
3500012 TRACK CONTROL ARM BUSH BOTH SIDES, REAR
denge kol burcu, arka sag-sol
20250AE020 S2 calineHT610K pblyara FOR 3509036/7;3509068/9
20250AE021 S2 Casquillo cojinete, brazo oscilante
20250AE02A 52 Silent bloc de suspension
SUBARU LEGACY Ill (BE,BH,BT) 12/98 - 08/03 SUBARU LEGACY IV (BL,BP) 09/03 -08/08
SUBARU OUTBACK (BE, BH) 10/00 - 08/03 SUBARU BAJA Pick up 09/02-12/06
3700069 TRACK CONTROL ARM BUSH BOTH SIDES, REAR
denge kol burcu, arka sag-sol
552700A000 S1 calineHT6N0K pblyara FOR 3709115
552703K000 S1 Casquillo cojinete, brazo oscilante
552703K010 51 Silent bloc de suspension
HYUNDAI SONATAV 01/05 -08/10
BOTH SIDES, REAR
) 4200091 TRA(;K CONTROL ARM VBUSH
rotilli kol burcu, arka sag-sol
S _T) 4871050080 S1 caiiNeHT610K pblyara FOR 4205019
) Casquillo cojinete, brazo oscilante
Silent bloc de suspension
LEXUS LS (460) 08/07-08/12 LEXUS LS (F4) 460 08/06-
6000016 TRACK CONTROL ARM BUSH REAR
burg, arka
68184782AB S1 calineHT610K pblyara For:6005013
68184783AB 52 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
CHRYSLER 300 C (LX) (1st Generation) 09/04-12/10 DODGE CHALLENGER 4th Generatio 08/08 - 08/15

2022-12 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

90of 10



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4

DODGE PROMASTER

6000067

68157802AA S1
68157802AB S1
68157803AA S1

01/14-

TRACK CONTROL ARM BUSH
salincak burcu, 6n sag-sol
calineHT610K pblyara

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES, FRONT

FOR 6009094/5

FLYER-2022-12

2022-12 (BY PRODUCT GROUP)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

10 of 10



